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Write T for true and F for fale stslements :
1. A perfoct square is always positive.

Ll—id-uﬂnﬁ-iﬂ—pﬂ
Lmﬂ-ﬂ_lﬁﬂﬂlﬂﬁ_h”ﬂ

iwﬂmﬂmﬂmhw-hmdt-umw*

micger
’.wrﬂﬂldlp—'ﬁﬂw-}'hgﬂm E
;m-ﬁuﬂfﬂﬁhﬁ“udlﬂﬂil. _'I:_
7. The value of JO.16 is 0.04. T
Ll-ll‘:-dfﬂﬂ-hmﬂriﬂ.h E‘% R o
-
=3

9. Square of 0.3 is 0.9.
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/1, MULTIPLE CHOICE QUESTIONS,

Tiek (") the correct aplion :

Uﬂ’“ﬂnﬂﬂm {b) an even number
(c) cither an even of an odd number (d) none of these |
2. Which of the following is a sequare? %
{a) 125 (e) 04 (d) 464 i
1. Which of the following cannot be a digit in the units place of a perfect square’ ]
(a) ) ) § AT (dy 0
iThuhufM is equal w©
W) 8 s () 3 (@ 1

5. The smallest pumber by which 72 must be divided 1o get a perfect square is

.2 ®) 3 © 4 - @S

6. The square root of 1444 i :

(a) 32 b) M \_ley 8 (dy 42
T.If%-%,hh*d:i;
(a) 400 (b) 300 * (e) 700 \_«d} 900
3 Jllh?tu s equal 1o ,
(a) 12 ) 13 fc) 14 18
0. The number of digis in the square rool of 16744464 is :
2 () 3 A 4 ) :
10, If the number of digits in the square root of a perfect square number be 3, then the mumber of
digity in the number is -
(w) 4 () § (€) 6 L,ﬁ)/!uﬁ
}vu_t&mmwegum4

In a school, students of class § collected T 2704 as donation to help flood victims. Bach student
gave as many rupecs aa the number of students in the class. Find the number of students in the
class and the smount of moncy given by each student. Here, what value did the stodents depict?



Jor Jz = )4 ;f_.rﬁ

Mm
Tick (v) the correct option : !
1. Square of an odd number is :
\_{a7 in odd mumber (b) an even number
() either am even or an odd number (d) mone of these

. Which of the following is a square?
. (a) 128 {c) o4 (d) 464
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‘rm.m#m-rm-ﬁﬁ«
_5_:_-_’- Gy vt JIStrs = Jag~ QJ"'“H = Ji 3y~
ff‘-’f s ji‘; A—4 !ﬂ.n’ﬂ‘s‘} ";2.5-"

e, JRS0S + [igine— Jroieiee

)28 4 12:§ — oy

—
—_—

= 13,426
Evaluste the square root upte 2 places of declmal : 3
1 3824 1 2695 3 09 - od
; 1‘7:- 8 14725 s 14 :
. )b
.g_’;.‘g‘ i rag.a. A RaE
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3 /2.9 = 294 7/&- o5
7/ 9
;M‘r Foo
19 734




Joo or o -r-? g;”?
n54 J8é) 1716
- o0 ¥loow 1€
' ) ——
r.]
o~ 94
= Teee = 009
e e
6. J23).9529 _ /239529 ) 523
e Jooeop )| 2319529
+11)
Joe xjov 02| 69
= bed
97
~ 15 w82 and
joo 2
- 152D,
7. 1f V63536 = 236, find the value of V655,36 65536 .
Sb Given Jésea = 2.5¢

JE = 354
tlovve =4 5 2 S5 = 20

-1 g -] tn

2 Jfistae = 254

Thawr, ricen
» JbSag ~Jéss3¢ - 25-6-254 ¢

= - '13-.4..'

@2

. VIS - 15 e T30+ OB OO

Sof. Giives JIStrs = )25~ gJa’*ﬂH = Ji25”

1S3 = )3-5 o] foro) 56352 0.2
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Evaluate the square roet of

the following (1 - ) :
HO0MI 29535005 3 ooo00ssel o 12996 5 0009216 4 23
L fooge o (381 e
| ooov .,:_' :ﬂ
oo loo f’m:a»ll e
2 JI.5025 = [353502¢ 5
| oo .,,,353 b
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:\/W [61{ 16)
Joo % 180 X /90 pjer, s CEE
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| 114
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€ Vo XJ243 = [3¢x3 ¥ 3x9)

= /3éx3x3x8)

= 6%3YY= 163 .

1 s oo = v
{mraxnro

% Jexr = Jo
¢ T3 2035 = Jaaxs ¥Srox3
Jaaxsy 3228

TBRY

\

= FX3XS = [F

9. Joox JES = Jaus x S5

—

= Ja L S TR ¥
— 2% %)) = Jlo

lo: {n%xJ72 = Jgars

X2 xJ2x36

= Jéaxarxry3¢
= Byaxb = 96,



ala, 15,10
= 2RI NS . |2p, bl I7, 5
S

To make bl&fiﬁ}'&”u*m}_h ": '\, T =
m#-rb‘-rl-a, 2X335= 30, 2 55

y-huf BM.”M‘?MH inmloer = [I0Xde - BfeD,

@D

18, Find the lesst perfect square exactly divisible by each one of the numbers 4, 5, 10 Javeryn]

14lr, lo
2 LJ'S“];
£l "8 ¢
Fatyy

Lm.u.

Evalume

"Ji'g "JE J% ‘*E J.J-E'H‘:'-:

Luﬁuﬁ 7. ¥2%0 x Jao l-n\'l_'uﬁ 9. V20 x /60§ 1e. Vizg xJ72
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C T Tl prdeat Spne = hél 30 = 12%¢
= S - 34, [J,B)

18 mnmﬂ-usmmhnm_mmn“mm
S, The Jn"}“"‘ 5“’51:‘#'3"""5« = Q?Q??

3)
3 (99999
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62 389
14
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143

ol o
J;Js Nimbe, _ ‘iﬁ??-!'!.}:‘”gsé
oo 998s5¢ = 3/6

s The '\"’w',.q <.

16. Hh‘hﬂnﬁ.dl‘ﬂﬁlﬂiﬂhlm“nh,ﬂh_-m [wom|

Sol.  The Jam} namber of & cgitn - )ooo

BV L ooo £ (32)™
e, looo £ Jo24
Least yumley Ho be adofesf _ |s34 ~[oon =24

& The Jeand ramber of 4%&3: lo24

< Jies 2 31—

17. Find the smallest square number, that is divisible

by cach of the pumbers 8, 15 aad 20. {07

B, 20,
b Lo of 8,15 ond o, s, 2
.l 4, IS, 1o
= 2RMIABUNS _ )4 HlLEy v,y
To make b.ﬁ‘fl-t}&ucﬂ. 3-—"'&4;"‘1 __'5____"__’__l£f__f____

%PIMJ b?- 2X324 = %o , ek
s ’Rgzun-q.{ Smadlanl Sp.u.?c hember = [laxds - 3fvv,

@D

18, Find the least perfect square exactly divisible by each one of the numbers 4, 5, 10, [sors)

Sef. Lem ef 4,5, /v

'1_4,; Jﬂ
- 2 & :
128z ap 2|2, ¢, ¢
¢ 5l 15 ¢
To make i W%mf - r‘;
'Yy
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12. Find the least number that should be subtracted from 423922 1o make a perfect square. Also, find
the square root of the perfect square.

s, ¢s !/
AL Y
The Jeart remmber o be +6 :2' e
Subpracted from 423619 Topy ). 1>5| £39
WW&Mr: ‘Isn} | #22-
- 13?11-—!1—]‘ < l130)

m = és5|

1. Mhﬂ“ﬂﬂhmnﬂ!ﬂn-ﬁh-ﬂ_nﬁ.ﬂﬁ

square root of the perfect square. ______.d;.?-.—.—
2. $| 2033 6
Sl (4-5°) L 209365 £ @45)) s 1078 !
: S
e 202069 £ 26340 E-,'S' 4.5
__q;a BS?

The Yegiives| numbey fo be m"f‘f L
— 20%40|

— 1o 3385
= 22
The veguives| perfeckSyume - 203367432
= 2&34.4:)
- d2ed4e) - as)
14 Find the least number that should be added 1o 1266 to make it & perfect squarc. Also, find the
square root of the perfect square. L 3 e
Sed s "~ =
200 K (397K 1266 < (34) &/T;:-R
L€ 1266 £ [294. g;/ 3¢€<¢
ﬂ""ﬁ}-‘"‘f Nignibe v fﬂ-bcqﬂh'-y *f,. 31;5,—
- 176 -16& - 32
= | J¢€ |

%Hfj.u-ﬂf Pl\.}l!u;" Sinae = héb 43 =
e S e = 34, (?‘B)

15 Find the greatest number of ¢ digits which is a perfect square. Also, find its square root. {iors|

3‘!‘ “he ‘f’""’-“} 5"{"};4"5% = qqql??
|3)

3!‘? 999
+3 |9 —
F g




